C e PR ) D Sk (T ) <
¢ modified 2000/6/13 Eﬁ@fjr

parameter(nt=1000)
real x(nt),y(nt),z(nt)

OPEN(UNIT=1,FILE="surface.in’)
OPEN(UNIT=4,FILE="surface_node.dat’)

write(*,*) ggﬂ [H4H[i #lﬁgﬂﬁ gm]}}uw%hm%(ﬁ )
write(*,*) ﬁ?‘* B,C,D PHff* ”%'1' A
write(*,*)

write(*,*) ﬁE?J R

write(*,*)

write(*,*)

write(*,*) ' NJ (X) iifﬂ 5 [@( 5
write(*,*) " -->

write(*,*) 1 2 3 4 5
write(*,*) ' 1 A---t-t-—-t--—-B'

write(*,*) ' N 2+ttt

write(*,*) " | 3 4ttt

write(*,*) ' H 4 Ft b

write(*,*) ' [FIJ O et

write(*,*) " ) 6 D---+---+---+---C'

write(*,*) ' %’U‘

write(*,*) ' gy’

write(*,*) ' =

write(*,*)" 6

no=1

write(*,*)

write(*,*) S Eg E#p[ Li9E no=1"'
write(*,*)

write(*,*) 'ﬁE?J“ NI (y) ﬁB BEX e

read(*,*) ni



write(*,*)
write(*,*)
write(*,*) i NI () [y AR

read(*,*) nj

write(*,*) ﬁfﬁj = lﬁﬁwf’?ﬁrﬂfﬁ A n=2"
read(*,*)n

if(n.ne.0) then

write(*,*) ﬁE?J > HFE—h=3"

read(*,*) ho

write(*,*) ﬁE'T 1 lﬁﬁlﬂf’?ﬁrﬂfﬁ H[JFE?JB% span = ho/ ?"
read(*,*) span
end if

read(1,*) xa,ya
read(1,*) xb,yb
read(1,*) xc,yc
read(1,*) xd,yd

nil=ni-1
njl=nj-1
kn=nil*njl

if(n.ne.Q) then
dy=ho/span
dex=dy*(n-1)

doi=1,n

do j=1,nj

y(i)=dy*(i-1)

X(J)=(xb-xa)/nj1*(j-1)

z(j)=0

end do

write(4,4) ((x().y(0).z().no,i,j).j=1,nj)
end do

end if



do i=n+1,ni

do j=1,nj

if(n.ne.0) y(j)=dex+(yc-yb-dex)/(ni-n)*(i-n)
if(n.eq.0)-y(j)=(yc-yb)/nil*(i-1)
X(j)=(xb-xa)/nj1*(j-1)

z(j)=0

end do

write(4,4) ((x(1).y(1).zG).no,i,j).j=1.nj)

end do

FORMAT(3F10.4,3i5)

stop
end



